A: I-IIA PFS B: I-IIA OS

100% 1 LLL Event/Total Median PFS P-value 100% 1 a8 Event/Total Median OS P-value
i == <5 19/32 27.5 mo 0.251 = <5 13/32 42.6 mo 0.761
g 80% A >=5 14/30 NR 80% 1 >=5 11/24 NR
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Time (Months) Time (Months)
No. at risk
<5 courses 32 23 15 9 6 5 1 1 1 32 31 22 14 8 5 1 1 1
30 27 16 10 8 4 3 3 1 30 29 20 12 8 4 3 3 1
C: lIB-IlIC PFS D: 1IB-1lIC OS
100% A Event/Total Median PFS P-value 100% A Event/Total Median OS P-value
- <5 13/17 17.0 mo 0.027 - <5 24/41 21.8 mo 0.031
S 80%H >=5 11/24 58.6 Mo 80% 1 >=5 10/22 65.1 mo
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Time (Months) Time (Months)
No. at risk
<5 courses 17 9 6 3 1 1 1 1 1 17 13 7 5 2 2 1 1 1

24 20 13 9 7 4 3 2 1 24 22 14 11 8 5 3 2 1



